ALGEBRAIC EXPRESSIONS
FACTORIZATION

EX1 Factorize each of the following algebraic

expressions: 81. Swp + 15wg + 20wr  91. —5ra — 10rb + 15rc
1, 6%+ 6y 2. 9x + 9y 3. mx + my 82. 3rs + 9rt + 18ru 92. —6rx — 36ry + 181z
4. gx + qy 5. >+ gy 6. 5x — 3y 83. 8pg + 16pr + 24ps 93. —7px — 21py + 28pz
Ty 8. 8x—8 9. mx — my 84. 8lab + 27ac + 36ad  94. —8ix — 24ly + 32Iz
10. rx —ry 1. =3x+3y 12, =7x+ 7y 85. 36pa + 72pb + 144pc 95, —9kg — 271g + 18mg
13. —8x+8 14 —px+py 15 —gx+gqy 86. —5ix + 15y + 25z 96. —3pa — 9pb — 18pc
16. =5x—5y 17. —6x—6y 18, —Tx— Ty 87. —8pg + 24pr + 32ps  97. —5lg — 25mg — 10ng
19. —px—py 20. -rx—ry  21. 254> + 5a 88. —9ab + 36ac + 45ad  98. —Tra — 2lsa — l4ta
3 .
22. 36p* + 6p  23. 4972+ Tr 24, 64x2 + 8x 89. —10ra + 25rb + 35rc  99. —8xt — 16yt — 24zt
2 —
25. 144a> + 120 26. 9p* = 3p  27. 16 — 4r 90. —12r + 24ru + 36rv 100, —81la — 361b — 4Slc
28. 81x2 — Ox 29, 144y2 — 12y
_ . Factorize each of the following:
30. 169x2 — 13x 31, =252~ §r
101, 9x — 27y3 102, 5x + 5
32, —49y2 — Ty 33. —64s2 — 8s
103. 18x — 6 104. 3x2 — 27x
34. —8122 — 9x 35. —121p% — 11p
. 105. 4x* + 16x2 106. 20abc — 8bcd
36, —4x2 + 2x 37. —9y2 + 3y 4 )
38. — 162 + 4r 39, —25p2 + 5p 107. 4gh, — 4gh, 108. ?171‘3 = —3;-171‘311
40. —64s2 + 8 41. 25x + 10 109. 5mR? + 10wr2 110. 6x — 18y2
42. 36x + 12 43. 49x + 14 111. 7ac — 14ad 112. 92 — 6y + 3
44. 64x + 16 45. 81y + 18 113. %mzh _ %,n-,a 114.492 — 7x
46, 4x — 2 47. 9x — 6 115. 1832 — 6x22 + 3xy°
48. 16x — § 49. 25y — 10 EX 2 Factorize each of the following aigebraic
50.3p— 18+ 5L —49x—21 S
1. 15x2y — 10xy? 2. 187253 + 12r3s*
. r _
§2. —81x—27 53. —100x— 30 3, Tpe — 14pr3 P
54. —121x — 55 55. —144x — 36 & ik L s
56. —25x + 10 57. —36x + 18 6. 4a2b + 2ab? — 8ab
58. —49x + 21 59. —64y + 24 7. 2x2 — 10x2y + 8x%?
60. —81p + 36 61. 16x + 4 8. 100%? — 5a%y* + 136
342 263 — 36 443
62. 25y + 5 &3, 36p-+ B 9. 18pi¢* + 2P — 307
10. 21x4yS — 7x3y2 + 14x3y*
64. 64g + 8 65. 100r +'10  66. 25x — 5 ’ .
11 p]m.. pZm‘ B pm
67. 36y — 6  68.49p—7  69. 81y — 9 U R TRV
70. 13lr~11 71 ~Bx—5 T2 —499—7 g, Bm? | Bm _ Pm?
L 10 20
73. —64p — 8. 74. —100r — 10 g ,
: 13 9Lm b 3lm? | 6P2m*
75. —144s5 — 12 76. —4x =2 “oon n? n?
77. —9y — 3 78. —25p -5 iy B, By SOt
25pn2  5pnd - 10pn?
79. —36r — 6 80. —64s — 8 o

5pin’

10p3n?  25p*nS



